©
ord Q)gogo
. iven word.
hoose the English word for the gl
1 Choos

" % ‘
i 2 4
eIt /

(A) National holiday (B)  Gazetted holiday

. . D .
/«;)/ Restricted holiday (D)  Casual holiday

(E) Question not attempted

Choose the most appropriate word for the given sentencg
2 1008 :

A person who is incharge of the objects or works of art i a museum.
pers ~

e e
v\ s
(A) Curator - (B) Calligraphist /l éj[/'\//

7 4Y
(C) Credulous @r Cartographer /\ LL\ - {(/ % (o
(E)  Question not attempted /()/ ;2 4) ﬁ
3 Choose the word opposite in meaning to : /y D
' U
DISHEVELLED [la z g y—
(A) confident ,GB)/ jovial ( L 0
z g
(©) tidy : (D) untidy /I (< g  ° .'j
(E)  Question not attempted , (<o R 4o
4 A certain sum of money is divided betweer Ajay and Chirag in the ratio 7:6 . If half of Ajay’s sham 850
less than Chirag’s total share, what was the sum of money?
o it ot firr afir ey SR e FormT 3 ey 7:6 % 3Tt & fersrrfrar framrm afe 1o 3 Ty o ot Ry
. . (\ S
Tratas SSOFH A, MFa U T o0 (v (77
(A) %4400 (B) T4.420 1o = £ 0,
25 24320 (D) 4200 = ¥
(E)  Question not attempted / 3fFaf v >
5 A motorcycle wheel] makes 5,000 revolutions to cover a distance of 11 km. The diameter of the wheel (in
p ©
cm) is; : é &
(A) 84cm (B) 100 cm 8 %GO R <O
C — U
©) S6cm (D) 70 cm _é/,,_,/
(E) \ Question not attempted y
e W'T%mllmaeﬁeﬁ T H 5,000 TR T ¥ wtwam eme @ HE: 9
AT 84% R 4
4aH @) 1005 | L
©) seq D) 70{H 3 ¥ ,’Zoq
() srufrg gy
6 Letx = (] 2} ; 7 i @ :
*CrBRdy w15 5y How many different functions are there from x in to y? _//6 >
HHAT x = .
- x8 {1’2}3ﬁfy={1,2,3}|xaymﬁa§ﬁmﬂ={w%‘z Q2 R
1
®) 9 - g
g SEFL
(E) Question not attempted / aqaaﬁ-ﬂ TSy ‘ l{/
P12] o ' T[rTO.
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Aman starts & business with ¥ 40,000. After 4 months, Bhanu joins Aman with T 20,000. Find their profit

sharing ratio after one year. £}
 ITHT ¥ 40,000 % T Toh @ T LT 81 4 W 3 a7, o7 € 20,000 % F m%m;ﬂsm%lmaé
%mﬁaﬁ%mw&mmﬁ” {:
(A) 4:1 . j, | B) 5:1 ")
© 2:1 | B 31 &3}
(E)  Question not attempted / ST T 4‘:‘%‘
8 A full length image of a distant talT‘.Building can always be seen by using :- ) !
(A) convex mirror (B) concave mirror
(C)  aplane mirror 1y (D) both concave as well as plane fnirror
(E) Question not attempted 1y . ;ﬂrn
aﬁmﬁwﬁﬁmmwuﬁ%ﬁﬁ%ﬁ@ﬁwmmmé@mm%- ,f
3T 9T m (B) 3rdae gduT o
(C) g 90T iod (D) Fae SR EHaA WU AT )
(E) Iaia us 04 v
9 When a ray of hght travels from the® idenser to rarer medium:- ,,2
(A) it goes straight. _ (B) it comes back in the same medluﬁn
(C) it bends away from the nor%é%l. (D) it bends towards - the normal. Ly
(E) Question not attempted [ Ty
* ST SERTST oY Weh TeroT @ HTeas & ot Aveard STl 2:- T
(A) I it foreher STt 21 m - ® qga@ﬁmmﬁmmaﬁ%\"
(€) T 3fies & gLHS AR m @7 ag it T SIS ST 8 i:..a
(E) Agaia s v O
10  Focal length of a concave lens is 50 cm. Its power will be :- ' ™
e ST SR P & 50 cmiéjﬁmﬁ e B
(A) -5D o /ﬂ D Ty
\ Ty
© -2D (" 5 =2y o~
(E) Question not attempted / SR =1 E‘ﬁ
11  Choose the most appropriate English translation of the given sentence. (’:x
9 T I el W 87 Y i
(A) What time do you sleep at tught‘? (B)  When did you go to sleep at ni ﬁt‘?
(CY When did you sleep at night? (D) Do yousleep at night? |
(E) Question not attempted e A
12  Choose the most appropriate opt{px} for the reported form of the given sentence:
“Read it for yourself if you don’tbelieve what I say™, he fold me, tg
He suggested that I read 1t%ce I didn't believe what he said, ™~
(B) Hetold metoreaditas] dld}l t believe whwt he said. 0
(C) He told me to read it for mygelf'if I didn’t "t believe what he said. G\
(D) He asked me to read it himsglf if I was not ready to believe, X \"‘ﬁ
(E) Question not atterppted Sﬁ

P12] -~ 3
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13  Choose the most appr opriate 0Op tion to fill in the blank:

> She
o didn’t see me wave to her. |
NS lS king (B)  has been looking
/(é,)/ was looking y
‘(C) is looking (D) looke
(E) Question not attempted |
14 “Mitigating poverty in western Rajasthan™ (MPOWER) is being implemented with the help of -
(A)  Asian Development Bank
(B) IFAD (International Fund for Agricultural Develpment)
(C) World Bank
(D) RBI
(E)  Question not attempted

T3yt TroTeT # T STE (T TE) ﬁﬁeﬁm@ﬁm&a%mm%v
A) @Tq:r%amﬁzésﬁ

(B) E.TE.T . (A W BT Woheret Saetuiie)
/Q@‘S fagds

(D) IRt e

(B) rguiaws

In which year Rajasthan State Food & Civil Supplies Corporation was established?
TSR S T T ARTRE STl e o e fofar o o g€ ofto

(A) 2011 (B) 2014

(C) 2010 ' M2012

(E) Question not attempted / GFIFI'RTT ST%T
16  Fe,0,+3CO —> 2Fe +3CO0,

in the other direction.

15

In the above chemical reaction, the reducing agent is :-

ma“méwmﬁa;aﬁx%mﬁm%

(A) Fe &5 co,

(C) Fe,04 | wf co

(E)  Question not attempted / IR w2 _
Which of the following is not the characteristic of a physical change?
(A)  Onremoving the cause of change, it is reversed.

(B)  Only physical properties of substances like state color, smell etc. change.
(C)  New substance is formed.

17

(D) This change is temporary.
(E)  Question not attempted
Frafafaa i & a9 witforens afvard i ferdrean et 89
(A) i # are s #) ger W, ww whvafda 6 sar 2
) e et & siifere it i 9 o e, o, Ty genfe F uftedT grar )

T garef = fmfor Brar )
(D) 9REdT srearft BT )
(B) TgaRaws

P12] 4 | [P.T.O.
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20

/?D

22
23

24

To complete a certain task 15 men take 10 days working 12 hours a day- How many hours a day should 10

men work to complete the same task in 20 days?

mm#wwégwﬁqﬁlzﬁ%mﬁmlswﬁgloﬁﬁmméﬁ%lﬁmﬁﬁm%ﬁﬁwm
% fore 10 caferat st ek fom o fae w S T =nfi

(A) 10 (B) 11

< 8 yy 9

(E) Question not attempted / Iﬂ'jﬂ'ﬁﬁ I
From the top of a 216 m high cliff, the angle of depression of the top and bott

respectively. Find the height of the tower.

216w, Sl = % v & v ST 3 T 7R et o rem shior s 30°
(A) 142m (1) _(By 144m(fh)
(C) 135m (1) . © 140m(f)
(E) Question not attempted / 3T F21

How many triangles are there in the given figure?

om of a tower are 30° and 60°

ST 60° E1 T T TS T H

Y s T B fepey B 82
A 12 ®) 15
©) 10 y 11

(E)  Question not attempted / Blg'r‘iﬁﬁ B

The value of cot 15° + cot 20° - cot 45° - cot 70° = cot 75%s
cot 15° - cot 20° - cot 45° - cot 70° - cot 75° FHTHM

@) 2 2
© 0 \ D) 1
(E) Question not attempted / STt g5

Frfefaa i frela @ af fowss -

(A) T+ 3R B) T+ ands
©) Far+stds AD) T+ arel
(E) JrEia '
faefetiaa § <g + 3ftw’ i wfe g
@) T Tl ®) RF
YOk i D) e
(E) i@ ya
Which Indian athletes is known as the ‘Queen of Indian Track and Field® of ¢ _—
(&) Keishna Punio =B B UShalC or ‘Golden Girl’?
(€) BunitaRani (D) Kamaljeet Sindhy
(E) Question not attempted
frfafad § & fra aTtd Taefie #Y e 3o o dies & e
wiee T Mg e
(A) afwrrgﬁm ee— By ST et T T %W@WW%‘?
(C) efrar T (D) oSt gy
(B) gafawd S

P12] 5 ‘
. [ P.T.O.
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25

26

27

28

29

‘NAMASTE’ scheme, is related to which one of the following group of workers?

(A)  Agriculture workers (B)  Sanitation workers
(C) Construction workers (D) Health workers
(E) Question not attempted

TR Ao P g 3 Rt e & i 3

A FwhE KB e i
© Feborahis . (D) e Fififn
®) ogERawr oy

What was the theme of tWorld Sight Day, 20239
(A) Donate your eyes
(C) Colour blindnessé\;;} ‘
(E)  Question not attéﬁpted
‘o gf¥ fam, 2023 ﬁeﬁq(ﬁmr)meﬁv
(&) 3T 7 Y (e A s

o5 mmmmﬁﬁ%ww T T (v A S o |

(C) auiteran mwssﬁq)
D) i (TR SetTEe)

(E) Irgafawy

A valid formula in Excei begms with -
Qa@aﬁm%&gmﬁmﬁqﬁméﬂ%‘z _ .
© + m (D) =

(E)  Question not attemj)ted / 1A v

The design that regulate ttle layout and formattin
(A) Placeholders

(E)  Question not attémpted

T e e ”mﬁmﬁﬁaﬁaeﬁrmemmm{%m%

of radreed o - ® =fim
© fomwem ©) s
(B) wrgafwuy E ,’-;

Which of the following is NOT an mput device?

(A) Mouse (B) Projectgr

(C) Touch Screen ii; (D)  Scanner

(E)  Question not attempted

Forefefia & & 2 o §iye feamse i 29 )
E?z B M

(A) AN 4 .

() - TT £y | (D) W

P12] , ’

(B) Love'your eyes at work
(D) Night-blindness

oo
o R

l) 3

Ot P

o) oy wear g
¥ ¥
¥

21 ¢

3
- od

LS o
12:

.
L 2

}

«53

"f

5“‘3
(N

]

i

g for the slldes In power point presentauon are known as -
L (B) Blueprmts
S & |

(©)  Design plates Ty’ (D) Templates

[P.T.O.
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30 Arrangethe following words as in dictionary and then choose the correct sequence from the given alternatives-

ﬁﬁmﬁﬁwﬁﬁ%mﬁﬂﬁmmmﬁgwwmwﬁl

L . I’\_{I_AIBLI_EI’;A . MABUSE -
M. MABLE IV. MABEPEARL
-—-——-f

o ﬁ hoose the most appropriate answer from the options given below:
I I A R e i & wraffire Suee I T = A
o LIV LI () ILILLIV
(© LILIULIV (@) ILILLIV
(E) Question not attempted / Eﬁﬁﬁﬁ' e

31  Five students participated in a scholarship examination. re than Preeti. Komal scored less

Suman scored mo

than Sunita but more than Suman. Mansi’s score is between Preeti and Suman. Who scored least in the
examination? )

(A) Preeti (B) Komal

(C) Suman (D) Mansi

(E) Question not attempted
mmﬁﬁgﬁqﬁmﬁm%ﬂlwaﬁsﬁ?ﬁﬁ
W%aﬂaﬁ@m@maﬁﬁ?ﬁﬁwmm

e i T 8 e & 7 91 T U
st 3 e 7 7 vy, TR W 31 fordt wH

Y |

o B) @
© gut (D) W=l
(E) SAgaa s

32  Eightpersons L, M, N,P,Q,R,Sand T are sitting around a round table conference facing the centre.

L R sits between L and S

IL S, who is the neighbour of Q, sits third to the i
I1I. Q sits second to the right of T.

V. M sits third to the left of R

Then who is sitting at immediate right of M?

A RELM N, P, QRS 1 trep TR ST 3 RT3 e H e T 3T I s 38 T
LR, LS B A Y | T

IL s,Qa:amﬁT%;aﬁ%ﬂﬁWFﬁa‘{:iatqté—o'rﬁ ,

1L Q,T 3 arferdt 70 qE At AT T

IV. M, R 3 SIeff e it e e @]

ghtof T

<7 M 35 e B i g ST AT 87

(A) L (B) P

© R BT Q

(E) Question not attempted / IrTafE 99

33  What was the ancient name of Jaisalmer?

(A) Mand (B) Dhad
(C) Maru (D) Maran
(E) Question not attempted

Srgeri T YT A HT9T?
LAY HiE - (B) wU®
(Cc) & (D) WRA
() Iuiawd !

P12 ] 7
" [P.T.O.
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y S prose and poetry the works which throw light on the achievements ang incid
34  Inthe genre | and dynasty are called __ (Choose the most appropriate optiop, o

of a particular indivigt? a from
: i ; W)

below:) ’ . (B) V]gat Ty

(A) DPrakas ! D p

© Vel e - (D) Vachnika ™

(E) Question not atiempted N

e < et 2 T S R SR e i oy aerfoer e et o o .
T (e 2 o 3 e et

™
(A) YEM | By fom LN
(©) e SB)  asfe
(E) ¥uiays .
35 is associated with which region i :
t()‘x;:i:;r dance is as pe | gion of Rajasthan? (Choose the most appropriate option from
' M Ty
(A)  Marwar Ly (B) = Shekhawati {™w
(C)  Barmer ™ (D) Mewar "}
(E)  Question not attempted : {NH
e e 1 et T 3 ok 80 87 (Pt 3 S g e ) =1
(A) TwREg k 5.
(C) =R ®) @ i
) srErawm M ‘
26 i . .
,(r:}liz:;t?e most app ropriate option to complete the sentence; i
® b ocr)m of DO lggfr in administrative or official communication is ol
o0 Open i ® ! .
) S} Dare open :
(C) Demi official ovd M 5 p oy "
(E)  Question not atie;npted - koGl (5
37 Fillin the blank choosin, -
cho . . | ™
He succedeq osing the most appropriate option : o
. ~—— __ his physical disabilities. =4
(A) inthe event of e .
(C) incase of i (BY inspite of
(E) " Question not attennte d (D)  but for u}
38 Choose the m from, t.) ol
ost appropriate w d . . . o,
ro ¥ : en. :
Fo all the copp niu A ord to complete the sentence giv Lﬁ
with “-Pa ¢members agree _ one another. : k‘!
© 1w :"‘u’ (B) for ’;
(E) " Question noy atterl, e (D) in o J
g the f()ll()win L;....‘
; g wa . .
:J;l)ow. I)) S the follower of Nirgun worship? (Choose the most appropriate option from
adu Dayal Wy
(C) Ram Charanj; /) (B) Ratan Singh L
(E) - Question noy gy (D)  Meera Bai L
Frerferfia & 7 ?‘ar;;;gm s,
wEE H Sty oy (e @ e swgen foreew ) i"
, = "
(C) T oy (B) T fiig %:
(B) ai@ya iy (D) o o

P12 ]: | . i

[ P.T.O.
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40  Match List-I with List-II
LisE—_:I}_(Fair)

a. Beneshwar L.
b.  Kaila‘Devi 1L
c.  JeenMata 1L
d. Di ggf Kalyanji V.
Hc:"ﬁ -1 ﬁgjﬁ -Iluﬁgﬂ%ﬁﬁm :

a. UK .
b.  aredl — 7 1
d. feuft seeamor <ft ™

List-1T (Place)
Karauli

Tonk
Dungarpur
Sikar

gt -11 (FT)
et
ik

HiFT

Choose the most appropriate answer from the options given below:

a-TILb-Le-1IV,d-1I (B)
p— T —
(C) a-I,b-ILic-Ld-1V (D)

(E) Question not attempted / aqg?rﬁ?f gq
41  According to the census 2011, which of the following dis

a-1v,b-1lc¢

g
g
[
"y
s

-
f

S e .
e dhma whwr i

i f

A
£¥ 3

_fd-1

a-Lb-II,c- Indi- 13%

(A) Bikaner ! (B) Jaipur
(C) Jalore iij (D) Udaipur ;4?’
(E) Question E;:Qg attempted : ,}E
2011@m%w,m%%ﬁﬁ%nmﬁ%mﬁ%ﬁmaw%§m%?
@) Hw I ®) IR 1
@ wER D) AL f:i
() 3T oo i

42  Given below are two statements:
Statement (I): Blick soil is found in
Statement (1I): Bgack soil contains en
In light of the abbVe statements,

(A) Statementﬁj is true but Statement (II) is false.
(B) Statementﬁé is false but Statement (II) is true.
(C) Both Statement () and Statement (II) are true.

(D) Both Statement (I) and Statement (1) are false.
(E) Question not attempted

i 3y apy feg T :

Kota, Bundi, Baran and Jhalawar districté &f Rajasthan.
ough quantity of Nitrogen but lacks in ?a cium.

&y
-
(aY

=

T3

FUT-1: et i o 3 e, S, e it s forei o urg sl & Lo

¥

o - 11 : Wﬁﬁmﬁmwﬁaﬁ%mwaﬁw

mﬁﬁmﬁ%a@%ﬁﬁmﬁ%ﬁﬁwﬁﬁﬁmaﬂgﬁmﬁ;

(B) IR s o

(D) Wlaﬁma\q%gw%l I &
v '

(A) o | TRt g e 1 AE 2 |
@y e 1 SRR Ee
) st -

P12] . 9

h

' ﬁ'“«:é . .
tricts has lowest literacy rate in Rajasthan ?

choose the most appropriate answer from the“pptions given below

[ P.T.O.
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43

44

45

46

47

i following?
' ample of which of the g :
0 is an examp o (B) First Generation Computer

Fourth Generation Computer

IBM systcm/ 36

Third Generation Compul

(A) on Computer (D)

© Second Generatl
(E)  Question not attempted

Py ) T STETT &Y |
maﬁqqsmﬁﬁ/ssp PR
(A) oS TR FAE s ek P
(@Y AT HEAX (D) AR

—(E) . g‘g . . -

Which of the following unit of the processor monitors and gives proper instructions to all parts of the
computer? . .

(A) Input unit (B)  Arithmetic and logic unit

(C) Memory unit (D) Control unit

(E) Question not attempted

e 1 R 8 & e e ot 3wl et By e apeeht & o 9% ot Frder it 2

(A) T qﬁz / (B) Afeemfess wd Hifsren q\ﬁ?
© Wiafe Dy e
(E) Srgaiawy
Which of the following is correct in regards to RAM?
(A) volatile, permanent (B) non-volatile, permanent
(C)  non-volatile, temporary (Ij) volatile, temporary
(E)  Question not attempted ' £
WG R iy ) am, TR Je

&) e, wmite V (B) HE- dicierEe, Wi
(C) M dicierser, Tracdr ' @ e, T
®) sfEs '
Chitrashala Art Gallery is situated in which of the following place?
(A) ' Bundi ‘ (B) Bikaner
(©)  Jaipur (D) Kota

(E)  Question not attempted

fﬂi?narmﬁﬁﬁﬁ%ﬁaaﬁﬁ%qwﬁﬁ&m%?

(& F& (B) AT
(©) wagw (D) @
(E) uqaf@uy

Which of the following is (he largest tributary of Indus river?

(A) Beas

(B) Satlyj

(€)  Ravi (D) Chenab

(E) Question not attempted
mﬁﬁmwﬁmwwwﬁmmm
e (B)  Hagw
© wh M LI
(E) 3rafasa

P12] 0 [ P.T.O.
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48
(A) Shlvalfk . ®) Vindhya f:
©) Satpura | (D) Ajanta
E) QUGSQOQ not attempted r
P Qe oy e st T o s & w22
L Rt ®) fr o
©) W] (@) omT_ 7
(E) Iguia ¢ A
49  Which of the followmg is a second generation computer? g P
ﬁmﬂ%{f@aﬁ%ﬁ?waﬁrﬁ/é@gaﬁmwma%o
(A) IBM 7030 ~®) IBM Notebook
(©) IBM 2’%‘41 | | ' (Dy” ENIAC
(E) Quesgon not attempted / 3T T j
50  Which of the-following became the first state to adopta road safety action plan?
- (A) Gujarat (B) Madhya Pradesh
© Maharashtra (D) Rajasthan g
(E) Questxon not attempted E’
ﬁmﬁiﬁaﬁﬁ"@aﬁqwmmmaﬁmmmmmw; .
A) gslrm“gi | ® mERT o
(C) TR, By TS w '
(E) SIuR@asd &N
51  Who presenf%”é Rajasthan state budget of 2024-257 —
(A) Bhajanlal Sharma (B) Diya Kumari
© Jogaran; Patel | (D) Kirodilal Meenag’
(E) Questlon not attempted g
ad 2024-25 TR T T S o S ferlT 2 »;
(A) mr’%mf r_(Ba/ Romgmt
©) a’rrrrtrg.sé?f (D) Prdeer s
() aramH 1 ﬁ:
52 © Who is the Thief architect of the constructlon of Ayodhya Ram Mandir’ (Choose the most appropriate
option from below: )
(A) Chang_;%kant Sompura (B) Arun Yogiraj {7
(C) Ram Siifar (D) Jagmohan £
(E) Quesfion not attempted -
A R eR—EL L ] S
(A) SEHAHET B) s T
© W swier O
(E) agﬂﬁaw v
Q) ~ S | (P10,

Which of the following mountain ranges is associated with Himalayan Mountain range?
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53

54

5§

56

o7

58

P12 ]

nief Election Commissioner of India during 2024 Lok Sabha Election?
the Chie

Who was s (B) Sunil Arora
(A) Naveen Chaw ‘ (D) Gyanesh Kumar
(C) RajivKumar

iof pted
E) Question notattem
goz4mww%w,mﬁgwﬂqﬁwaﬁqﬁ?

Tfret 30T
(A) T =mE (B) ¥ -
rﬁﬁ—a-i;ql‘( (D) 5”'”0
(E) et ¥

Which civilization is famous by the name Dhulkot or Tamravati Nagari? (Choose the most appropriate Option
from below:)

(A) Chandravati (B)
(C) Aahad

Indus

(D) Balathal
(E)  Question not attempted

B |l HRAT YEThiE A1 AR Y 6 9 & Wi 2 (e 2 2 et Sges v <)
(A) =esmadt

B) fiyg
AT (D) ST
(E) rgui@yus

Select the most incorrect statement from below about Kalibangan civilization.

(A) Kalibangan was a planned city, the sunbaked bricks were used to build houses.

(B) No evidence of ploughed field has been found in Kalibangan.

(€)  The ancient Drishadvati and Sarasvati river valley (Present day Ghaggar riverine area) cradled the
civilization of Kalibangan. '

(D)

This civilization ig situated in Hanumangarh district of Rajasthan.
(E)  Question not attempted

Wm%ﬁﬁﬁmmwmwaﬁl
(A) el e o wre o, s 3 Por 3 o
PO NN
(©) ST el it weecret 7 e (e e

Hgﬁaﬁ‘réﬁmsﬁwﬁm?ﬂm o)

qﬂéﬂ)%wn‘ﬁmmaﬁmﬁw
D) T HAAT TSI 3 BT vy F oy 2 . ‘
(B) Syafmuy

mﬁaam‘am’wqmm%_

(A) == (B) Wy

@1 o | ®) I

(E)  afauy '
Wﬂmmm%mwmm

Y F - (DR EC—
©) = - (D) 37 - fipep
(B) SImi@usy

T G T A 0 5 e b 29

(A)  frsmETes B A rerrre
(C) wHa=H (D) mmaa;
(E) GWHH

| | . 12

[ P.T.O-
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60

61

- P12 . 13 .

L —

__ wasthe first state to establish Panchayati Raj.
(A) Uttar Pradesh

(B) Punjab

(C©) Gujarat

(D) Rajasthan

(E)  Question not attempted

YT TS T S ATl UgaT U o2
(A) ITTR |
(B) UeE
©) T
4P TSI
(E) rafaws

Which of the following directive principles in Indian Constitution requires the state to organize village
panchayats and endow them with necessary powers to enable them to function as units of Self Government.?
(A) Article 40

(B) Article 42

(C) Article 38

(D) Article 39

(E)  Question not attempted

i ¥ wfirar o fpefRaa 7 & frg Rdve figia & TR U7 it 0T d=ma &l 66 i 31K 38 Teme
oS ¥ 59 & 0 1 gy S % A STTaws it Yem e e?

&y TSR 40
(B) =T 42
(C) 3TT=% 38
(D) TR 39
(E) raRa s
A tool used for operating industrial robots, playing computer games and training flight simulators is called:
(A) ' Light pen (B) Mouse
(C) Keyboard . (D) Joystick

(E) Question not attempted

@mﬁmﬁam%m,wm%@ﬁ@mﬁmmmﬁ% s
< SUh{UT o &

BT & FEATAT & - RERED
(A) <R (B) W=®

© = | By S

(B) oaf@ys

[ P.T.O.
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: does not change while copying the formula?
i ing, the cell reference .
62  In which referencing,

R‘elative referencing (B) Mixed referencing
© Oé‘li referencing (D) Absol;lff Eriessncing
ion not attempted P
g;ﬁgu;:ﬁ Tt BT o @aﬁqirqq‘cﬁw E;, |
o ﬁﬁﬁaﬁﬁ&m ' (B) fﬁmﬁq%%n
(©) ﬁ’aw (D) QaFiI'q:}Z;
B) sgufass -
63 Which of the following is a smallest data unit of g computer?
(A) kat% FB) Nxble:-f? ;
©) KBy D) GB
(E)  Quséstion not attempted {7
Pttt & ooz i e e afe .o
A) arsz (Byte) i gl Freret (Nible)
© ¥ B) () e (GB)
(E) emrﬁaw
64  Khetri Bansyal Conservation reserve is situated in which of the fo%lowing place of Rajasthan?
(A) Bhilwara : (B)  Ajmet{?
© Jﬁunjhunu E (D) Kotal™
(E) (%Jestlon not attempted ( _ gz
@ﬁ@mﬁ{ﬁmmmﬁﬁmﬁﬁm%aﬁ?ﬁwqmﬁﬁ%ﬁ
(&) ictarsr (B) Ity
}Q{ s D) = -
(E) STy
65

Which ig'the longest river of Rajasthan? !ﬁ
(A) Parvatl

(B) Chanibal
©) Ma?m (D) Kali %}:ﬁ;dh
(E) Quéstlon not attempted (8)
IS < S el et e 5
(A) ®)
() wry (D) et fiy
(BE) sguiauy
66 Choose ::gr}rford nearest in meaning to the underlined word, t-g
The conyigt’s ingenuous ¢xplanation brought tears in everyone'yeye.
(A) n’f\“?e

(B)  clevefny
. 8 )
(©) utsg{pcere , % secret '

(E) Qu:;stion not attempte( N

i ' .0.
121 | 14 [ P.T.O
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67  Choose the word most similar in meaning to :

PROSCRIBE

fA) Appease OLB( Prolong
(C) Prohibit (D) Permit

(E) Question not attempted

68  Which of the following is a fat-soluble vitamin?

(A) Vitamin C | (B) Vitamin B,
(C) Vitamin A (D) Vitamin By
(E) Question not attempted

51 % & = forerfem o & geelicr 82
o frafmc . ®) fefB,
(O faatim A (D) fererfe By
(E) Ifuia sy

69 TUPAC name for the following compound is :

(A) 2-Methyl-1-propene
(C) 1-Butene
(E) Question not attempted

= few T AfiTe & ITUPAC 719 &:

,CB)/ 2 - U= (Pentene)

© (D) 2- 9IS (Propyl) -1 - AT (Methane)
®) SEARaS .
70  The most stabl
e I
7 B Cn
©) D) Cuo
(E)
71 Which allotrope of carbon is a good conductor of electricity?
(A) Fullerene (B) Coke
(C) Graphite (D) Diamond
(E) Question not attempted
AT A ey fREHEgEewm? ,
(a) PR (B) I (T Frre)
1 I (D) TR (Sramus)

() a5
P12] 15 : -
' ' .T.O.
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72 What is the main obstacle in agricultural development of Rajasthan?
nat 1s

(A) Limited availability of fertilizers (B) lrrcgular.l;lt?ianfl unccr.tz.li.nty of rains
(C) i/Lack of land reforms (D) Lack of 1¥r|gat|on facilities
(E) fiéucstion not attempted vl
(©) v s (D) R gt &1 spara
(E) ‘. %@ﬁﬁﬁw
73 In which of the following year demonetisation of currency was declared by Indian Government?
T e v 8 e 8 s P s s o ot
(A) 1Mo018 (B) 2019 JH
_® f:zfom - | (D) 2017
E) . Question not attempted / ﬂgﬁ'ﬁﬁ e |
74 Whetejs the Indian Institute of Handloom Technology located in Rajasthan?
(A) 3"fodhpur B) Bharatpui‘r!h%
(©)  Jaipur (D)  Udaipur i£3
(E) {Question not attempted 1y
TR Al oerel () ey e st ¢ frerm 2 i,,:
(A) Sy (B) W@y ¢
© :w_; = £27 RS &f
(E) ~Irgafays et
75 ;

In an’election between two candidates 75% of the voters cast their votes, out of which 4% of the votes were

declared invalid, A candidate got 9,261 votes which were 75% of thé"t;ptal valid votes.

Find;tg’f total number of voters enrolled in that election. ':;

, } . o Y
3 AT 6 ¥ v 7504, et T Hra T, et & 49 e v qrog T TRt &6 9,261
T BT S 5t e 70t 2y 75

2 WW%@WWﬁd@TWWWW
B) 16500
(D) 17,000

)
(A) 16,800
A T17,150
ol
(E) Question not attempted / e u

A certain sum of money amounts to ¥ 2,286 in 3 years and ¥ 2
Whati?; the rate of interest per annum?

4 i M
AT <19 1 20 v e fey 3 ] i 2,286 7T 4 TR 2, 4488 el 1 v < e v 29
(A) (110% To® ey

R, o, OV
(C) rﬁ 0 | ’}‘}))/1

f ‘hui
(E) ¢“Question not attempted / sTafE wy

o _{ 16 [ P.T.O.

76 448 g years at simple interest.

s
‘
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77

78

79

Which of the following Committee suggested the incorporation of eight fundamental duties in the Constitution

i
Gokhale Committee

Swaran Singh Committee

{ ¥

R

(et g wBif

of India. 1y

(A) Dutta COmrh'i't'tee (B)

(C) Verma Commlttee (D)

(E) Question notattempted

ﬁnﬁﬁ%aaﬁqﬁ# mﬁﬁaaﬁwﬁmﬁmaﬁaﬁaﬁmﬁﬁaﬁmmﬁm o2
(A) =argfufg (B)

(©) an‘iaﬁqﬁr

(E) SAgafawsr,,

Who was the Chléf draftsman of the Indian Constitution in the Constltuent Assembly? (Choose the most

appropriate 0pt1on from below:)

(A)
©)
(E)

S. N. Mukhex;]ee
Ser N. Rao

Question not attempted

B
®)

Prem Behari Néfr‘{iin

HV.R. Iyenga‘f ;§

-(

Hﬁm?wﬁum%’aﬁw%n@maﬁ?% (ﬁmﬁr@ﬁﬁﬁwﬁmﬁﬁ%ﬂaﬁ)

M@Gu@ﬁ

©
(E)

maﬁq:ma
sraf e

iﬁ{

Match List-I with LlSt 11

a. nght to Equality L
Ri ght to Freedom IL
ﬁ‘*-*f
Cultural and educational rights III.
d. Right;against exploitation Iv.
i)
aqef -1 gl -1 g A
g1 (FEEFD)
b, AL AR I

(E)

Llst-I (nght)

== _
c.  gieaiaeh S feafoen AR, I
= e
Choose the most appjropnate answer from the OptIOI‘IS given below:
ﬁ%ﬁqmﬁmﬁﬁﬁwﬁ%mmwwaﬁﬁq
(A)
©

4. vimuridifaes TR
Ly

Sl

a-IV,b- III C II,d-1
a-1,b-1I, c .III d-1v
Question not attempted / St oo

P12] . 17

(B)
(D) Tt A AR

(D)

oy fergry AT

i
i g

m;r
e Amo. a,#

ey

List-IT (Related Eo)

Protection of hfegand personal liberty
Prohibition of htifznan trafficking and
forced labour .4 ,

Abolition of titles except military and academics
Right of minorgt;ies to establish and administer
educational ins;t:;tytions

g
F=-1T (GWF%??%)
S @rmﬁmamﬁ BRE
A TR WW T T Yfersier
=1 3 el Sarfrdt oy BITH 37
ST T It

HTTHEIH ﬁ%ﬁmmwﬁamaﬁ{
ST ST A 3T SRy

i"mm

)

Y

a- lMLb-Lewy, 4.
a-II,b-[V,Cc‘«Igd‘HI
i

[ P.T.O.
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; nd answer the questions that follow: (Q. No. 80 to 84)
Read the given pf:lssage a it is playing chess online, ordering fo0q on a delivery platform, interacting with bots for
New Delhl:Whet.her triaging patients or creating deep fakes, Artificial intelligence is now entrenched i
reponses'to qufm?ts ;urprising then that universities anq research inmes
mcid;:;r;yh;. :;;S:pplication of Al in multifarious disciplines, but also o
no

li At the Yardi School of Artificial intelligence in Indian Institute of Te
ives.

conducted on building Al algorithms that can be}lsed for different appli
patients can talk to an agent about patient history, machines that cap j

scans and systems to predict cyclones early. The range of studies is exte
A lot of the studies at Yardi School are also assessing the existi

chnology, Delhi, studies are being

cations- g dialogue system where
nterpret ultrasound images and CT
nsive,

ng Al algorithms to plug gaps and sociy|
-D, said, “While these days, the hype is arounq

Chakraborty talked about its use in the judicial domain.

“People are using a sort of predictive tool to determine
how likely a person is to commit a crime if released

n bail,” he pointed out. “A study showed that it was
se who hadn’t ever committed a crime being classified
Chakraborty said the studies at Yardi School «
Create algorithms that are fajr across diversities, ethnic, religious, linguistic or gender

anything that directly impacts any particular group,”
80  Scientists are aEEing 1o create an unbiased

algorithm-
\(}/) To study about potential defaulters

(B) Tostarta dialogue system for future patients
©

To study the impact of technology on human liver
(D)  Tobridge the £aps and remove social prejudices
(E)

aim to
”. “We mean to rectify

Question not attempted :
81  Asetofruleg that must be followed when solving a particular problem is _
(A)  Chat GPT BT Algorithm
(©) Artificial intelligence (D) Multifarious disciplines
: (E) " Question not attempted
82  Match List-T with List-1T
List-1 (Words) List-I1 (Meanings)
8. Entrencheq ' L. ability of show futyre happenings
b Marginaliseq I established strongly
€. Predictive IL  People that share the same cultural tradjtions
d.  Ethnic ‘ ‘ IV. with not much say in important matters,
Choose the most “PPropriate answer from the options given below:
(A) ja-NLb-T,c.1y 4 , ' B) a-ILb-1v,¢c-1,d-1
M:-Lb-lll,c-ll,d.w e (D) a-1V,b-1lc-1,d-1
(E) Questi(_)n not attempteq

P12 ] . | 18

[ P.T.O.
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84

85

86

87

88

89

P12 ]

Match List-I with List-II

List-I (Fields) List-1I (Application of AT)

% Medicine L Predicting natural catastrophies
b.  Banking I Identifying Potential criminals
& Crininology III.  Interpreting ultrasound images
d. Mef&ﬁOIOgy IV. Disbursing loans;?

Choose the most'ap appropriate answer from the options given below: 4

(A) a-ILb-T¢-IId-1IV (B) aIbIIcIVdIH

(©r a-MLb-TV,c-1,d-1 D) a-1V,b-TLc=Td-1I

(E) Question not attempted

Identify the drawl?ack of using Al extensively according to the passage :- : :

(A) Natural caizsastrophlcs can be averted due to timely alerts. v

(B) Takes carg. .of loneliness by providing online companions. 73

(C) - Abot w11btake down the history of patient.

ﬂ?f/ Biasness agamst certain sections of people due to lack of mformatlon :
(E) Question not attempted g

Pl

éammﬁmgm% _ gt
(A) 3T v ®) fa
(C) I ABy
(B) Faiaws
freffaa & ¢ aqﬁ‘:%"asqa’marﬁﬁ% .
2: e . Fg

"’1 —_—

T
ﬁ;,;;,ér gaﬁaaqm aqﬁﬁlﬁﬂ -
:ﬁ%ﬁqmz e bl @ Fada, q3iRe

Fd
E‘g WEZ ;‘W (D) b, coe " 4
(E) agaﬁ?fsr%r :
Frrferfie o & g o FrediaTdes 712 & = 1T 4
(a) Fr oy @) TR 1
& | an £
T T4 ¥4
S Fae %( mmmmmawm i 4
(B) IR - "
(A) UTES oh By UUX V¥
© fE ® .
Fraid TN e : .
fs)hok w\;lks 4nrtdwards north. He turns to his right and col\)/ers a distance of 12m and after that he turns to
tance of 12m. The shortest distance between starting point and end point
his left and covers a dis ®) 20m i point is:
(A) 25m (D) 28m E

(C) 23m L? - ”?
(E) Question Al >t attemp 12 Iﬁ'c.'tﬂ?ﬁ?{am
mm 61 et i e 81 3 wa%ﬁﬁﬂg%;__ %gﬁtmaﬁa@mm‘fsﬂr

m&ﬁaﬁwm%lmﬁa:ﬁmﬁm 3 T hY

grmECT B) 207 ‘ :
(a) 25" o )P,/Zzg et e [ 2.
© 23 i é\ﬁ 2 =

SR ' :
® e 19 . ﬂ'
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90

aqbc
qqbc

gbca
q‘b 91

92

93

94

P12] 20

. . ill complete the given series?
ich of the given option, WITi €€
gggﬁiﬁﬁﬁﬁﬁﬁﬁ#a"mﬁ ST 1 G HTM?
A 2?( bsi hed b
aa a q_ bgaad b ql 9

;B), aaaca
(A) abaac

—e——_——

(C) aabca (D) aacba
a
®) alcslion not attempted / Cﬂﬁﬂﬁﬁ g

Which part of ashvagandha plant is mainly used to make medicines?
() dowers (B)  pollen grains

(C) Leaves (D) roots
(E)  Question not attempted

mﬁé%hwﬁﬁéﬁaﬂﬁ%%&ﬂ@ﬁmﬁmam%

(A) (B)  wmT - oy

) ufwt A oy s

(E) orgaRaws _

Which of the following is not an application of Blood group inheritance? (Choose the most appropriate
option)

(A)  Treatment of hereditary disorders, like hemophilia.
(B)  Treatment of infection of HIV-1 and HIV-2.
(C)  Solution of parental disputes.

(D)  Treatment of neonatal blood hemolysis.
(E)  Question not attempted '

ﬁmﬁm%ﬁﬁaﬁwﬁmaﬁﬁmﬁm@ﬁnﬁ%-mﬁﬁﬁmwmﬁ)
a@ﬁﬁasﬁsmﬁaﬁrw (B) " HIV-1 3T HIV -2 Hshwor 357 3o
(>4 ST foraet ey

(D) =S se7e fewifefig &7 squr
(B) Taf@ysy .
Successions that Occur on soils or areas which have recently lost their community are referred to as - -
(A) Lithosereg

(B) Priseres

(C) Primary Succession (D) Secondary succession

(E) " Question not attempted

éa@msﬁm@maﬁﬁm&mﬁéaﬁmﬁﬁaﬁnﬁmaﬁ@m%mmﬁhﬁﬁ-
(A)  AaFs ‘ (B) Vs

& e s (D) Titreres srspmmor

(E) SIyafauy

In a pedigree analysis jt

is observed that only male children are
because it ig a/an:

affected with the Haemophilia disease

(A)  Autosom] dominant disor der (B)  Sex linked dominant disorder
(C)  Autosoma) Tecessive disorder (D) Sexlinked FeResstveidisawer
(E)  Question noy attempted
Wﬁ»mﬁa%@nmmmmmﬁ“ﬁ%mim“@
) A D ey 407" T e s e &

(©) ST ST e ) T s fame &

[ P.T.O.
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95

96

97

98

99

P12 ]

Down’s syndrome is caused due to trisomy of -
(A) Chromosome 01

(C) Chromosome 11
(E)  Question not attempted

2 fagm O $ SR T Y
(A) TOEAOl (B) TV 14
©) Tl 21
(E) rgaf@ws s W i
Which of the following is not a fibre yielding plant?
(A) Khejri

(C) Sunhemp

(B) Chromosome 14
(D) Chromosome 21

(B) Coconut

(D) Cotton
(E)  Question not attempted
ﬁm%?@aﬁ%aﬁqmwmmﬁ%"
by TS (B) i
(C) TS (8 BF) . (D), FTE
() Adiea =

Which of the following statement is incorrect?

(A) During lightning, the low temperatures and pressures created in air, convert nitrogen into oxides of
nitrogen.

(B) Nitrogen oxides dissolves in water to give nitric and nitrous acids and fall on land with rain.

(C) Nitrogen gas makes up 78% of Earth’s atmosphere.

(D) Only few form of bacteria are able to convert the inert nitrogen into nitrates and nitrites.

(E) Question not attempted

FrraferRaa o & I o1 e T 72

Lpor~ Tarsrelt =mer / R 3 SR, g 7 Ffffa 9 aret o e TR arer A o R 3 itaarst §
gfEfda it &

®B) - Wmmﬁwmﬁmmm%mw%mﬁ“m%

(C)  Tagist e qecht o STIHST T 78% HNT ST & =

(D) W%mwmﬁmm@mﬁwaﬁtwﬁmﬁ Wﬂﬁ%

(E) aﬂ'ﬂﬁ?ﬁm '

What is the rank of Rajasthan in m11k production in India during 2022-237

(A) Third (B) Fourth

(C) Second (D) First

(E) Question not attempted

T 2022-23 % AR T I H TSTEAT h S & AT 87

() (B) ftur
@ T (D) gEwT
() Sgaiayd
In a certain code language if PHYSICS is coded as KSBHRXH, then h
same language? en how BIOLOGy can be coded i the
af PHYSICS =1 foeft ifeq v # KSBHRXH e e ST & 30 g ey N
S \ - RIOLOGY = 3 fireay
(A) ;&MOM B (B) YRLOLSB Le
(©) YSLOMTC | YRLOLTH
(E)  Question not attempted / 3TTARE sy /W 8
e BI 0L 0 (hy
PrYSI é ; [PTo
KsaREXH YR(o LT B i
-
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—

=a](®
P(' —__ 07 24
k —=3?
100 P+ Q means P is the brother off"Q ' 4 [% +
—~ px Q"means P is the mother of Q e Y2 1‘\'l \
P- Q means P is the son of Q : 1g 1 -__‘(/
P+ Q means P is the husband of Q ¢ h I 9 g ’ /.-
J Whlch of the following indicates that *A is the nephew of y e ot V.
Py Qe R P, QR P
P X Q a1 e i p, G TT & ' 4 e
P- QA RFFP, Q#T T R A——
P~ Q wramd 2 fr p, Qaﬁfqﬁ'% ;—{ — Nk
ﬁm%ﬁaaﬁ&ﬁq%ﬁém%ﬁm U 7 ¥efterr 9 ) ¥
@ _KxH+U - (B) A+N+KxH<Y i
'& (c) A+N><K H%/U M NxKxH""’U‘
ﬁL’ (E) Questlon not : attempted / mﬁ?rsm e |\T %
( 101 Aﬁer the death of Rana Sanga, who became the ruler of Me&/aﬁ (Choose the ,MOst apprppriate option from
- below ) ; V== by
== H ——(A) ~Rana Uday Singh (B)’ Rar'fg Rn%r Slng ,K
(C) Rana Vikramaditya (D) RanaRatan Slngh :
- B _Question not attempted l N
mmaﬁrw%wmﬁmmmaﬂwm{ﬁwﬁﬁmﬁmﬁmgﬁ:) -
(A) [ T 327 Rig ®B) wmemmfyy L A F
ALY, ey @) TmwERE =
(E) ST wr

102

103

104

Keoladeo Ghana National p

ark is located in which place?
A) e ~Dholpur

S "(B) Sawai Madhopur;; #(7' -
(C) ~Bundi (D) - Bharatpur ™ B
(E)  Question not attempted " A a4
(A)s,;;“;%ﬁagt (B) | HTeTgR F—7-¢
E) Gmﬁ?fw =L
At the time of freedom ho

W many Riyasats were there in today’s Rajasthan

Yo (Choose the most appropriate
opt:on from below: )

(84
m%mm%ﬂwﬁmweﬁ?(ﬁﬂﬁﬁmmm 3™
MI 9 B) 21 E“?
© s D) 17 -
(E) " Question not attempted/3"F|?l'l:l'<‘rg’3r i

Whoamong the followmg won the silver medal at the 6t Asjan Trampoline G

ymnastics Championship?
(A) L{ Brishtj Khandaga|e

(B)  Dipa Karmakar Ty
(©) g R“Cha Divekar (D) Kalpana Debnath ¢
(E) e, Questlon not altcmpted ‘ [
EL ! '5,5”“ geirei ﬁﬁmﬁﬁﬁmﬁﬁmmm (Silver n%edal ) Sftar am
(A) Fe e « B dramie b
(© - F T S T
(E) i@y A -

, "I
P12] g‘ﬁ | ) " [ P.T.O.

nj‘
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105 Country’s first underwater metro line was inay

(A) Kolkata gurated by India’s‘ Pﬁ@e Minister in1 which city?
(C) Mumbai (B) KOCh.I

(E) _Question not attempted (D) Delhi

TRE o ST ZRY 391 Y qaeft sfe@mw TS TS o Igre foer ek & fofar T A

. : (B) Il
pe) ﬂag (D) faoelt

(E) Iaiaws

106 What is the theme for ‘National Science Day 2024’7
(A) Indigenous Technology for Atmanirbhar Bharat
(B) Indigenous Technologies for Viksit Bharat
(C) Indigenous Technology for Future India
(D) International Technologies for Viksit Bharat
(E) Question not attempted ' .
e g feg@-2024° &1 oy / fm =T ®? ‘
(ay~ Sy st 3 for et enfihy (SRR SIS L ST ST
(B) ﬁmm%mﬁﬁﬁmm%(d%ﬁﬁmwwww»
(©) e e 3 fore el e/ (3R SaTeS i R e

(E) ARawd .
Frefetfiere I o deqed HHTH i T ST &
107 i {qacd " W
ey = ©)
- (B) aqgﬁﬁ’cr WA "
108 (T)r%’r’r T R | AT &7 N
@f T
2 SATaid 34
®). =1 ; :
; > qrez ¥ fafee o ©-
109 m biCH i | - ;g
© | or ,
’(II‘S) 'de:tical IS.:fnps L, and L, ar¢ connectec} inan AC G;fléc‘;:% ag ;};(r,wn, then -
0 a‘gmaﬁfh@h@mﬁqﬁwﬁw _ -
500 pF L
100 mH L,
500V, 50 Hz i
L, glows bx:ighter thanL; (L2 %Erga;m ;

t . - -
®B) L2 does no glow squally St @ﬁmmﬁméﬁ)

mps 8 2
©) Eotghkljvsirighter thanLy (Ly 3 fﬁm ST Ly )
B estion not attempted / AR ¥4
(B) - Queston )

[P.T.O.
P12 ] . ‘
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111

112

113

114

p12] () +

the first educational satellite launched by ISRO in the year ; %

was

e ST ST ISROEW ___ J6 A Srermam ol ’

(A) METSAT, 2010 (B) EDSAT, 2006 \ @
; 3 T, 2004 i ;

(C) GSAT, 2010 L) g))’ EDUSA G g { |

(E)  Question not altemf)téd | ST T

Select the most incorrect statement about Salar Forest

(A) Dhok Kathira and Dhawad are among the chief trees of Salar forest. '
(B) Teak tree is abundantly found exclusively in Salar forest. i
(C) Salar forests are also-found in hilly areas of Rajasthan. >
(D) These rforests are named Salar forests due to the abundance of Salar trees *
(E)  Question not attempted

|IAR 5 % TR H Ferd ST ch%l-t T T )

(A) Y HRRT (Dhok Kathlra) 31 9% (Dhawad) ST o 3 W@ 87 81
B) amﬁmm@ﬁ%waﬁﬁwwﬁwaﬁmw%

() IR TSI F e & o off are s )

(D)  TTCTR it bt SIEIXAT:h SHuT 7 a1 sh | 5 1 e T 2

(B) SAgaf@ws &

Which of the following isthe highest peak of Aravah range in Rajasthan?

(A) Dilwara (B) Rishikesh
(C)  Set

” (D) Gurushikhar L
(E)  Question not attemgted wz
Frerfertae 3 & srtrref wehaten 771w e e e a2 -
(A) fesmrer €7y (B)  hfSersT £
© & g @®r TR '}
(B) guf@yy A : gl:g

.2
2

Select the figure from amOngst the answer fi
given problem figures,

WWﬁ@ﬁﬁwmﬁrﬁrwﬁsﬁﬁnﬁwmmwﬁﬁéﬂﬁmﬁWWWI
Problem figures / oy mmﬁm-r

gures which will contmue the same'séries as established by the

Ts
£
(©) * (7}
° s ";?3

(E) Question not attemptt}d | STt war

<
\o| [+
b
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(R<3‘I'é

ﬁéﬁqwmﬂﬁmmﬁwﬁ
!
987 906, 842, 7é2 757,732, 716

!ﬁa/ 792 f% ) 757
(C) 906 ii Oy 842
(E) Question nzotvattempted / maﬂﬁa' sy
: L
P12 ] g0 ¢ QUL 25 & \@
3ur Y- 79 at =
9 Yo % 5]

XE—YX (T
(S

e =
115 Mathematical symbols are respresented by alphabets as shown below: ; 9
£a
W%ﬁﬁm‘mﬁmmw% WA Ry R =G 7‘— (
el el I Sl R 2 9(;'4
BG/E C"DAF {@? :'"{‘(?—'
Now identify the correct expression from the given options: i
Wﬁ?‘m 13 3wt arfreatis 1 = 8 ""(f = ! -
% 15C 3G 6 8£4D12 R ¢ 3— 4670 1
= ®) FISF 3% 3G 4E 12 4 G =1 _ (- St . /2
©) 18C3D6B8C4G12f\ 18 = 3 £ 7#8 ==
(D) 18A3E6B8G4B 12 4 _’L g - « L
(E)  Question not attempted / ST T 69
116 A circular park whose circumference is 2340 m has 10m wr?e pa?h running; around it (outside the park). What
is the area (in m2) of the path? (Use n= —) ’s
o qesrhmqr%%ma?m&ﬁ: 484°rﬁ ?, Sd% TR 3T (T F 9T 1orﬁ T—.ﬁgmw%l T T ATBT (H2 W)
2
W%V(nm——aﬁrwq‘ma%) 5O AQ)/“/ ‘{ Rbo R4
5«1 3 M 3 Q.
48400 2 " B X
cﬁz) g~ LBiyo__ X 7/, /@
52800 ( ( 0' g 9_3(?‘1-27(2/ \/ o &
s DI N
~ ? - 197D
46200 5 53y O X! Y
7 iy s v 2> 1 = 7 ﬁ/
50600 i
(D) m? @) - %
(E) Questlon notiattempted / SN T2 E# y
117 Following four numeral pairs are glven Out of these, three are alike in & “certain way but one is different
rent.
Choose the one whlch is different from the rest three. 5 °n
. N
ﬁhZﬁ%ﬁ%ﬁT?ﬂI¥ﬂ§quﬁﬁEfﬁéféqrnI%TE:ﬁ?i??ﬁqW¥E§HaﬂTiTIF?FT%?%ﬁ??IE%fEF=f§|3;RFTERFTE#%E§Taq:qEﬁ=ﬁ
a0 1y
(A) 34,204 .. ® 26182
© 42,252 qa)/ 24,144
(E) Quest:on not attempted / AT wer ez
118 Find out the mcorrcct term in the given sequence
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119  Which conclusion/conclusions would follow on the basis of given statements:
1

120
121

122

123

A

Some Flats are Apartments.

Statements: .
No Apartment is a Hall.
Some Hall are Rooms.
Conclusions I: Atleast some Rooms are Flats.

II: No Apartment is a Room.

In light of the above statements, choose the most appropriate answer from the Sptions givenbelov

(A)  Both conclusions I and IT follow (B)  Neither conclusion I nor II follows
(C)  Only conclusion I follows (D)  Only conclusion II follows
(E)  Question not attempted

ﬁémmm%mwﬁqmﬁw&,aﬁﬁmﬁwﬁmmm%l

HYT: FS TS AL B ' 2 — S
e I o« G
%S BT FW B

oot LandwgmaRwed [
II: 1% S9N AU AT &) o<

3q§fﬁaﬁw=ﬁ%mﬁﬁwi%ﬂ?§ﬂﬁmﬁéwaﬁ§mmwaﬁ;

(A) T e 1 o 1 s w3 _(B?/qa‘rﬁms?flaﬁw‘énmm 3
(©) e feerd 1 svpemor s 2 D SN
B oot (D) %aaﬁwéllm@wmél
ﬁw%iaﬁaﬁamﬁmwm%-
(A)
(© e 4(?)/:;
(E) smaf@wsr 5 ®
T 3 e er i i |

©:
Al - (B) 3
(E) sgaiawy ' Sy~

‘\T\’Eaﬁ:\‘}giﬁm%_ -

A o=

- : d.  |mmE

e. I
ﬁﬁq”qwfm?ﬁff&mmwwwﬁﬁw
(A) FaTb, ¢ 3k g N B Fawa,cafie
(©) Faeta, b (D) b, daie
(E) ergaftausy ; |
FA . . N . »
ﬁ:gj m1f51n§ %I;mgb;;r%iven ﬁg:-ure_‘

qp\" A=

@ WS

Q .,l_’\,'t'b \\%
A

gé)) llgi Wel (B) 291

d 261
(E) Question not attempted / sy !Ter )D‘)’

piz "

[ P.T.-
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\
| e R R i T T
|

v

"t
o If o and B are the roots of th A0
, e equation 3x® —13x.414=0, then what is the value of = 0
7Rt a3t ‘{Tﬂﬁm "
B TH 337 - 13x+14=0 FA g, d L i | p——
83 ’ g &
A) — i ‘
@A) 7 3 % ® 2
42
©€) 8 65
(E) Question not attempted / Wﬁ'ﬂ g =
125 Karewa formation is “useful for which of the following crop? (Choose the most approp“atg 4(:)pti°" o
below:) ’
(A) Wheat 0 (B) Tea
(©) Rice 1y (D) Zafran

(E) Question not attempted
ﬁmﬁqﬁwﬁi ﬁn%%ﬁﬁ%mm%mmﬁ%? (ﬁmﬁ%mmﬁwaﬁ) )
(A) : £7)

v.v—,«% P

© e 0 R e
(B) aRaus w% %
126 Who was the Governor General of India when Awadh was annexed by British? *,i
- (A) Lord Velejali ¢y '(B) Lord Canning
(9} Lord Cornwallis} ; (D) -Lord Dalhousie 1
(E) Question not attempted ' ' ;;
mmm%ﬁﬁ%mwmmwmm ~
() TR @) o B o
(©) wiEFHREe Dy st &

(E) ITgANa i

r sogys Bhe

o
Vg

127 Which one of the following Articles of the Constitution of India provides the information abouit the functions
of Rajasthan Public $&vice Commission?
(A) Article320 (B) Article 317 A
(C) Article 312 . (D) Article 316 29
(E) Question not a’t;empted g«‘
m%mmmaawmmmmmm%m%mﬁm ﬂém &5
(A) FTRTIN (B) ITRT317
_(93/313[_3"’312 i (D) TVA316
saf@yd
128 Accordmg to which Article of the Constitution of India, the Chief Minister is appointed by tﬁg::c;m
a State? Ty v ernor of
(A) Aticle 165 L) (B) Article 166
(C) Article 163 ™ (D) Article 164 tiﬁ
(E) Questlon not gftémptcd i."‘;
srea 3 wfaur & W%Wwﬁﬁgﬁﬁm%mmiﬁmﬁ on
Ve ST 165 {_».%; | (B) TR 166 oy
) FTRRI63 ' (D) TR 164 ok
(E) At WF &

P12 | ' 27 ™~

[ P.T.O.
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2 {
th

Gupta (B) Prem Sing(:l Mehra
(A) Madhukar Gup B
(C) Inderjit Khanna p (
(E) Question not attempte FEr]
j T frater I |
ST 2024 Tﬂ?% o ﬁqmw
\fg)) seoft T D) TF.u

E) orqaf@usr ' _

130 ;y) the 4\:1th Amendment Act which of the following fundamental right has been
fundamental rights? . ) -
(A) Right to Freedom (B) Right against exploitations
(©) Right to Property (D) Rightto Equality

removed from the list of

131 On which date RBI announced withdrawal of

appropriate option from below:)
(A) May 19,2023 (B) May 31,2022
(©)  April 16,2020

(D) August 15,2021
(E)  Question not attempted

?%ﬁm‘rmﬁ.m.%zzooo%ﬁwnﬁz%mﬁﬁﬁﬁaﬁwaﬁrﬂm(ﬁwﬁ%mwﬁm
) |

(A) w19,2023 B) wE31,2022

& 16, 2000 (D) =R 15, 2021

B) iy

132 Whatis the Percentage of Reservation for women in Pan,
the most appropriate op

tion from below:
mmﬁmmwﬁqﬁa%ﬁ%ﬁ%q ST Bt ST feperr 27 (T g e )
(A)  40% B)  45%
©)  s0% @7 3%
(E) " Question not attempteq / STaia wsr \
133 Under which scheme 3 75 €rore accounts have been opened in Rajasthan up to i
(A)  “Pradhan Mj tri Surakshg Bimg Yojana (PMSBY)”
(B) “Pradhan Manty; Mudra Yojana (PMMY)”
(C)  “Pradhap Mantrj jap, _ Dhan Yojana (PMIDY)"
(D)  “Pradhap Mantrj Jeeyan Iyoti Bima Yojana (PMJBY)”
(E)  Question ey

chayati Raj system in the State of Rajasthan? (Choose

o T 3 e i
mmﬁﬁﬁmzozzwszsm‘gﬁ@ém .
(A) T e oy

e S e (PMSBY)  (B) “wawwE g1 GET (PMMY)
,(9)( - d"“’*"(PMJDY) (D) et sfam s s G (PMIIBY)
(E) a:riﬂ'ﬂ’dgﬂ

.T.0.
P12] ' 28 o [P.T.
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[

34 Where is Rajiv Gandhi Fintech Digi i m
gital Institute to b i i i ?(Ch th i
option Srom below) e established in Rajasthan’ (Choose the most appropriate

(A) Jaisalmer (B) Jalore

(C) Jodhpur (D)  Udaipur

(E)  Question not attempted s T

e o et e e P e (e 4 8 S )

&) g (D) FAE
(E) AT w9
135 Which of the following Dams in Rajasthan is NOT on river Chambal?
(A) Kota Barrage (B) Ramgarh Dam
(C) Gandhi Sagar Dam (D) Rana Pratap Sagar Dam

(E) Question not attempted
W%W@Ha@ﬁﬂﬁmmmﬁmﬁ@

(A) PRI @y TEEEd
(c) T ISR, (D) O ST HETCST
(B) Igarasd

136 et 3 s feftaa T -
(A) T EE gE ' e
() FE IR

3 w1 G
(D) =eRT ST AT A BT

(B) A I
137 wrt1 35 e -1 6 e T
T i1 (T geft-11 (@ ¥159)
a. S7Tfe | 3= Tk L P
N SRkl : I S
c. aﬁz-@-‘—qﬂrga:n' 111. 3
g faeprdsErE V.
ﬁmmﬁmﬁﬁﬁmmmmmmwﬁm:
(A) a-1V,b-TLc-ILd-T %/-I,b-m,c;%d-n
© a-III,b-_Iy,g,_;_I,d’H ! a-II,b-I,c:_I__V,d—III
® I |
138 ‘ﬁqm’maﬁ%m%ﬂngﬁrmaﬁré?
n) T , (B) =TT
gt Py SRS

® FATA
19 ‘W,%m@sﬁ%mmmmmm@

(A) Reminder (B) Memorandum

© Circular (D)  Order
st 94
140 ;E;fwﬁqsﬁas a@@@ﬁﬁﬂﬁﬁﬁﬁﬂmwmﬁmaﬁ;
(A) IR et B)
2P A o) T
() FuRaIH

P12] a2 [ P.T.O.
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ine which contrasting character was not selected by Mendel for his hybridization experimep,
141  Outofthe following W -

on garden pea? i
848 of root i

(A) Position of flower" (B)  Shape .
W1 (D)  Colour of seed

(C) Colour of flower ;.

-a."?‘“g
% t
(E)  Question not attcmpled

ﬁmﬁi@ﬁﬁﬁﬁwﬁqﬂﬁwﬁ ma@ﬁ)wﬁ%mmmmﬁwqﬁﬁmww

J
& gEdifefy o o B ST I SR ;wi
© ywEE— (D) ssrarar.
(E) 3rguita u ‘ 1)
142 Which of the following i 1s hot a reason to produce transgenic animals? 1 {3
(A) To obtain bxologlcai products (B)  To study how genes are regulated

(C)  To test toxicity safety : (D) To make somatic hybrlds

(E)  Question not attempted

v
ﬁm%%aﬁ%@qmwmﬁ#@mﬁm)maﬁmmﬁmmqﬁ%? i’;
(A)  Siferes 3= T R fore B) aﬁ#%&ﬁtrﬁﬁ%qaﬁ% THHT ST O 3 fqg
gz mﬁmquﬁwzﬁﬁ%fm (D) wﬁmwmﬁ%mfg»
(B) IaRawy 'i"‘ i
143 Which of the following pyrarmd $ is/ are never inverted? {‘i:‘;
(A)  Pyramid of numbe; (B) Pyramids of biomass agé number
(C)  Pyramid of blomasi (D)  Pyramid of energy {3
(E)  Question not attemgted o
ﬁnﬁ%ﬁﬁqaﬁﬁgwmwwaﬁw
(A) wEH fife 1 % - (B) Gﬂawmaﬁww%ﬁiﬁg
(©)  fEmr @mﬁmj A ®) mﬁmﬁi‘ﬁq@; ;{,3
(E) egafasa v a\
144 2H,0, —Glyeerol H20 +o2 i
In the above chemicy) reactlon glycerolisa: :.:ji
(A)  Autocatalyst (B) Bio catalyst
(C) Positive catalyst (D) Negative Catalyst
(E)  Question not attf;mpted :g
2H,0, i’“ﬂ_;mp +0, ‘ ::;
L T TR o  fererer 3 Oy
W S v %
(C)  EFTeHe IR i Z (D) TCEIEE g

(B) 3raid g™ s g
P12] 30 [ P.T.O-
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45 Which of the following will sink in water?

(A) Empty plastic bottle with closed lid
(C) Kerosene

(E)  Question not attempted

(B) A wooden stick
(D) A ball of stainless steel

Pt i & e e g o
(A) € TR ATl wTTeeeh i @et sitdel (B) T e At
(©) FfRm : oy e e i
(E) Iraia :
146 The non-metal which is used for making electrodes and is also a go:d conductor of electricity is :
(A)  Graphite (B) . Nitrogen
(C) Sulphur (D) Iron
(E)  Question not attempted ;
mﬁﬁmmmmm%mmmw% S rac] ﬁngzgamtﬁ% ?
(A I (B) RN
(C) ¥R (D)
(E) AJANa 9 s :
147 Choose the most appropriate option to fill in the blanks:
The accident victim ___ bythetimethey _ him to the hospital.
(A) was dying , rushed | (B) will be dead, have rushed
427 was dead, rushed 4 (D)  had died, had rushed

(E) Question not attempted
148 Choose the passive form of the sentence given. :
A thief stole my dog and brought back only when I offe}red ¥ 5000 reward for him. -
Choose the most appropriate option from below: ' _
(A) Only whenl offered a reward of 4 5000 my dog which was stolen brought back.
(B) A thief brought back my dog which he stole when I offered a reward of ¥ 5000.
(@x~ My dog was stolen and brought back only when a ¥ 5000 reward was offered.
(D) Ioffered a¥ 5000 reward for the thief only then my dog was brought back.
(E) Question not attempted
149 Choose the ntost appropriate option to fill in the blanks.
Mr. Mehra called while you were out. He wants to make

_— complaint about
article in the paper. He was in very bad temper.

./QKO A, a, thea a (B) As x, an, the
(C) A,a,an,a - (D) X, an,an, an

(B) Question not attempted
150 Choose the most appropriate option to fill in the blanks -

I can’t do this job alone. 1 need ____to help me; in fact will do, as 1 just need

assist me. —"
(A) somebody, anyone, someone 9/ anybody, nobody, a“)’one‘

(©) nobody, noone, anyone “(D) anything, nobody, anybody

(E) Question not attempted

P12]. ‘ : 31

[ P.T.O.




